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Pre-Calculus Homework #16 — Answer Key

J6++/2 or \/8+44/3

0 =105,345
4+ 242
_x 3z om Iz
4 4" 4 4
~120 119 ~120

sin260 = —120 C0S20 =—— tan20 = —— quadrant IV
169 169 119

3 -16 -31 35 -59 45 -35 100
4B+5A= , 2A-3B = , AB = , BA=
4 -40 30 -24

o4 - 18 -16 48 0
8 7 -3 1
det Aor [A=11, A*=| 11 1 det or [B|=-60, B1=| OO 30
3 4 =1
11 11 20 10
6 3 15 18 -31 21 26 79 -57 23
3B=| 0 18 -9|,4A-B=| 28 -2 -7| AB=|10 -4 -39| BA=|-54
12 27 6 20 15 2 8 -32 38 a1

det A or | Al =-640

1 2 3 100 100

At=|1 -1 -1|, A'A=[0 1 0|, AA'=|0 1 O
, 1 38 0 0 1 001
T 2 2]

28 -36 O 8
2B +5Ais not possible, —-4A=|-12 -32 -20 16 |,
24 -8 4 -16

—44 9
30 6
—62 7
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49
AB =| -27
10

det A or |A| =186

A does not exist

[ 83

23

—68
10

-51 18

31

-114

~14

59 17 22 -14]

—73 58

-45 -12 -21 36

-53 57|, BA =

11 -66 -12 48
7 37
46 19 40 -2
~18]]

6 :

5 | 6A+ B and AB are not possible, BA=
-10 i
=-123
15
4 4 4 ~ _

5 7 1 000
- = -1

0100

4 4 . ATA= |
-1 -3 3 0 010
4 4 4 0 0 0 1]
13 -

2 4 J
30 52 22 10] -15
-66 36 —60 36 -9

: 3A-2B=

8 6 —-40 22 8

16 66 26 20| | 28

58 10 -43] 41 -12

-115 100 18 -39 -15
: BA=

-52 19 41 -57 26

-21 -33 18 | | 80 71

14
2B = 8
=12
4
det A or |A =
1
4
1
AL = 2
-1
4
1
4
4B +6A=
-28
-22
AB =
-3
| 51

34

o O O k-

43
-18
-4

45
17

o O +—» O

o - O O

~11]

18
19
-10

-105

R O O O




19)

20) 8B —3A is not possible, -7A=

3 22 23
5 15 15
-11 -83 -97
5 15 15
-9 -68 -82
5 15 15
4 320
3 3

| || ||
CA)|I: w w =
]

1
0
ALA =
0
0
35 0
—63 49
56 -7
35 -42
14 7

o o o

21 |

-14
28
0
28

O b O O

, O O o
o O O K

AB is not possible,

o o r o

O kL O O
_ O O O

8BA is not possible



